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· Please write down the serial number of the question before attempting it.

Time allowed: 3 hours





      Maximum Marks: 80

General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 1 question of two marks each, 3 questions of three marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for mathematical tables, if required.

SECTION – A

1.
Write two irrational numbers between 2 and 3.

2.
Find a polynomial 
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respectively.

3.
Find the value of k, so that the quadratic equation 
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 has equal roots.

4.
Find the sum of first 15 terms of an A.P. whose nth term is 
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5.
If 
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 find the value of 
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6.
In the adjoining figure, 
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, find the value of x.
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7.
In the adjoining figure, AB, AC are two tangents from point to a circle with centre O. If 
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8.
Find the volume of the shaded region as shown in the figure.
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9.
In the given frequency distribution table, write the missing frequencies.

	Class Interval
	Frequency
	c.f.

	00 – 10
	12
	a

	10 – 20
	b
	26

	20 – 30
	c
	47

	30 – 40
	13
	60

	40 – 50
	5
	d


10.
Why is tossing a coin considered to be a fair way of deciding which team should get the bat at the beginning of a cricket game?

SECTION – B
11.
If 
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divides 
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 completely, find the values of a and b.

OR
Find a and b such that 
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12. If 
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13.
Find the value of k for which the points with coordinates 
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 are collinear.

14.
In a 
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 the perpendicular BD on hypotenuse AC is drawn. Prove that 
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15.
Find the probability of getting 53 Fridays in a leap year.

SECTCON – C
16.
Show that a number and its cube leaves the same remainder when divided by 6.
17.
Represent the following system of linear equations graphically. From the graph, find the points where the lines intersect x-axis: 
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18.
How many terms of the A.P. 
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 are needed to give the sum 
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19.
The hypotenuse of a right triangle is 1 m less than twice the shortest side. If third side 1 m more than the shortest side, find the sides of the triangle.

OR

A shopkeeper buys a number of books for Rs. 800. If he had bought four more books for the same amount, each book would have cost him Rs. 10 less. How many books did he buy?
20.
If 
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OR

Evaluate:
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21.
Find the coordinates of a point whose distance from (3, 5) is 5 units and that from    (0, 1) is 10 units.
22.
Draw a right triangle ABC with 
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 Construct a similar triangle whose sides are 
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times the sides of the triangle ABC.

23.
ABC is an isosceles triangle in which AB = AC = 10 cm, BC = 12 cm. PQRS is a rectangle inside the isosceles triangle.   

   
Given
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and PS = QR = 2x cm, prove that 
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OR

Through the midpoint M of the side CD of a parallelogram ABCD, the line BM is drawn intersecting AC at L and AD produced at E. Prove that EL = 2BL. 
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24.

QR is a tangent at Q to a circle whose centre is P. 
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, where AQ is a chord through A, the end point of diameter AB. Prove that BR is a tangent at B.
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25.
In the adjoining figure, AB and CD are two diameters of a circle (with centre O) perpendicular to each other and OD is the diameter of the smaller circle. If 
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 find the area of the shaded region.
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SECTCON – D

26.
In a flight of 600 km an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced by 200 km/h and the time of flight increased by 30 minutes. Find the duration of the flight. 

OR
The area of a rectangle gets reduced by 80 sq. units if its length is reduced by 5 units the breadth is increased by 2 units. If we increase the length by 10 units and decrease the breadth by 5 units, the area is increased by 50 sq. units. Find the length and the breadth of the rectangle.

27.
An aeroplane, when 3000 m high, passes vertically above another aeroplane at an instant when the angles of elevation of the two aeroplanes from the same point on the ground are 
[image: image37.wmf]00
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 respectively. Find the vertical distance between the two aeroplanes.    
28.
State and prove the Thale’s theorem. Using the theorem, prove that a line drawn parallel to the parallel sides of a trapezium divides non-parallel sides proportionally.

29.
Find the area of shaded design where ABCD is a square of side 10 cm and semicircles are drawn with each side of the square as diameter
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OR


A rectangular container, whose base is a square of side 5 cm., stands on a horizontal table, and holds water upto 1 cm. from the top. When a cube is placed in the water it is completely submerged, the water rises to the top and 2 cu.cm. of water overflows. Calculate the volume of the cube and also the length of its edge.
30.
The following table shows the marks obtained by 100 students of class X in a school during a particular academic session. Find the mean, median and mode of the distribution.
	Marks
	No. of students

	Less than 10
	7

	Less than 20
	21

	Less than 30
	34

	Less than 40
	46

	Less than 50
	66

	Less than 60
	77

	Less than 70
	92

	Less than 80
	100
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